

POSITIVE SOLUTIONS OF SECOND ORDER NONLINEAR
DIFFERENTIAL EQUATIONS WITH PERIODIC
BOUNDARY VALUE CONDITIONS

Chuanzhi Bai[§]

Department of Mathematics
Huaiyin Teachers College
Huaian, Jiangsu, 223001, P.R. CHINA

and

Department of Mathematics
Nanjing University
Nanjing, 210093, P.R. CHINA

e-mail: czbai8@sohu.com

Abstract: Criteria are established for existence of positive solutions to the second order periodic boundary value problem

$$\begin{aligned} -u''(t) + pu'(t) + p_1u(t) &= f(t, u), \quad t \in I = [0, T], \\ u(0) = u(T), \quad u'(0) &= u'(T), \end{aligned}$$

where $p \in \mathbf{R}$ and $p_1 \geq 0$. The discussion is based on the fixed point index theory in cones.

AMS Subject Classification: 34B18

Key Words: periodic boundary value problem, positive solution, cone, fixed point index

1. Introduction

The existence problems of solutions for nonlinear second-order periodic boundary value problems, have attracted many authors' attention and con-

Received: August 10, 2005

© 2006, Academic Publications Ltd.

[§]Correspondence address: Department of Mathematics, Huaiyin Teachers College, Huaian, Jiangsu, 223001, P.R. CHINA

cern. For example, see [2, 6, 9-10]. In recent years the fixed point theorems of cone mapping, have been available applied to the two-point boundary value problems of second order differential equations, and some results of existence and multiplicity of positive solutions have been obtained (see [3, 5, 8]). Inspired and Motivated by the recent work in [1] and [7], our purpose here is to study the existence of positive solutions of nonlinear second-order periodic boundary value problem

$$-u''(t) + pu'(t) + p_1u(t) = f(t, u), \quad t \in I = [0, T], \quad (1)$$

$$u(0) = u(T), \quad u'(0) = u'(T), \quad (2)$$

where $f : I \times \mathbf{R}^+ \rightarrow \mathbf{R}$ continuous, $p \in \mathbf{R}$, $p_1 \geq 0$.

To be convenient, we introduce the following notations

$$f_0 = \lim_{u \rightarrow 0^+} \inf_{t \in I} \min \frac{f(t, u)}{u}, \quad f^0 = \lim_{u \rightarrow 0^+} \sup_{t \in I} \max \frac{f(t, u)}{u},$$

$$f_\infty = \lim_{u \rightarrow +\infty} \inf_{t \in I} \min \frac{f(t, u)}{u}, \quad f^\infty = \lim_{u \rightarrow +\infty} \sup_{t \in I} \max \frac{f(t, u)}{u}.$$

The main result of this paper is the following theorem.

Theorem 1. *Assume that $f(t, u) \in C(\mathbf{R} \times \mathbf{R}^+)$. If one of the following conditions is satisfied*

$$(H_1) \quad -\infty < f_0, \quad f^0 < p_1 < f_\infty,$$

$$(H_2) \quad -\infty < f_\infty, \quad f^\infty < p_1 < f_0.$$

Then boundary value problem (1)-(2) has at least one positive solution.

2. Preliminaries and Lemmas

We denote by $C(I)$ the space of continuous functions $u : I \rightarrow I$ and by $\|\cdot\|$ its max-norm $\|u\| = \max_{t \in I} |u(t)|$.

If (H_1) or (H_2) is satisfied, it is easy to prove that $f(t, u)/u$ is lower-bounded for $t \in I$ and $u > 0$. Thus there exists $M > 0$ such that

$$f(t, u) \geq -Mu, \quad \forall t \in I, \quad u \geq 0.$$

Let $f_1(t, u) = f(t, u) + Mu$, then $f_1(t, u) \geq 0$ for all $t \in I$, $u \geq 0$, and equation (1) is equivalent to

$$-u''(t) + pu'(t) + qu(t) = f_1(t, u), \quad t \in I = [0, T], \quad (3)$$

where $q = p_1 + M > 0$.

We shall consider the existence of positive solutions of BVP (3)-(2).

Given $\sigma \in C(I)$, we first consider the linear periodic boundary value problem corresponding to equation (3),

$$-u''(t) + pu'(t) + qu(t) = \sigma(t), \quad t \in I, \tag{4}$$

with the periodic boundary condition (2).

For convenience, let

$$r_1 := \frac{p + \sqrt{p^2 + 4q}}{2} > 0, \quad r_2 := \frac{p - \sqrt{p^2 + 4q}}{2} < 0. \tag{4}$$

Lemma 2. (see [1]) *Let $\sigma \in C(I)$. Then $u \in C^2(I)$ is a solution of (4), (2) if and only if*

$$u(t) = \int_0^T G(t, s)\sigma(s)ds, \quad t \in I, \tag{5}$$

where

$$G(t, s) = \frac{1}{r_1 - r_2} \begin{cases} \frac{e^{r_1(t-s)}}{e^{r_1T} - 1} + \frac{e^{r_2(t-s)}}{1 - e^{r_2T}}, & 0 \leq s < t \leq T, \\ \frac{e^{r_1(T+t-s)}}{e^{r_1T} - 1} + \frac{e^{r_2(T+t-s)}}{1 - e^{r_2T}}, & 0 \leq t \leq s \leq T. \end{cases}$$

Let

$$w(t) = \frac{1}{r_1 - r_2} \left(\frac{e^{r_1t}}{e^{r_1T} - 1} + \frac{e^{r_2t}}{1 - e^{r_2T}} \right) = \frac{h(t)}{(r_1 - r_2)(e^{r_1T} - 1)(1 - e^{r_2T})},$$

where $h(t) = (1 - e^{r_2T})e^{r_1t} + (e^{r_1T} - 1)e^{r_2t}$. Then

$$G(t, s) = \begin{cases} w(t - s), & 0 \leq s \leq t \leq T, \\ w(T + t - s), & 0 \leq t \leq s \leq T. \end{cases}$$

Setting $h'(t) = 0$, we get

$$t = t_* = \frac{1}{r_1 - r_2} \ln \frac{-r_2(e^{r_1T} - 1)}{r_1(1 - e^{r_2T})}. \tag{6}$$

By

$$e^t > 1 + t, \quad t \in \mathbf{R} \setminus \{0\},$$

we have

$$-r_2(e^{r_1T} - 1) > -r_2r_1T > r_1(1 - e^{r_2T}), \tag{7}$$

and

$$r_1 (e^{-r_2 T} - 1) > -r_1 r_2 T > -r_2 (1 - e^{-r_1 T}). \tag{8}$$

From (7) and (8), we easily know that $t_* \in (0, T)$. Noticing that

$$h''(t) = (1 - e^{r_2 T})r_1^2 e^{r_1 t} + (e^{r_1 T} - 1)r_2^2 e^{r_2 t} > 0, \quad t \in [0, T].$$

We have that t_* is the minimum point of $h(t)$ in $[0, T]$, $h'(t) \leq 0$ for $t \in [0, t_*]$, and $h'(t) \geq 0$ for $t \in [t_*, T]$. Hence

$$h(t_*) \leq h(t) \leq \max\{h(0), h(T)\} = e^{r_1 T} - e^{r_2 T}, \quad t \in I. \tag{9}$$

Thus, we obtain

$$G(t, s) \leq G(s, s) = \frac{e^{r_1 T} - e^{r_2 T}}{(r_1 - r_2)(e^{r_1 T} - 1)(1 - e^{r_2 T})} := c, \quad t, s \in I, \tag{10}$$

and

$$G(t, s) \geq \delta G(s, s) = \delta c, \quad t, s \in I, \tag{11}$$

where

$$\begin{aligned} \delta := \frac{h(t_*)}{e^{r_1 T} - e^{r_2 T}} &= \frac{(1 - e^{r_2 T}) e^{r_1 t_*} + (e^{r_1 T} - 1) e^{r_2 t_*}}{e^{r_1 T} - e^{r_2 T}} \\ &= \frac{1}{e^{r_1 T} - e^{r_2 T}} \left[(1 - e^{r_2 T}) \left(\frac{-r_2 (e^{r_1 T} - 1)}{r_1 (1 - e^{r_2 T})} \right)^{\frac{r_1}{r_1 - r_2}} \right. \\ &\quad \left. + (e^{r_1 T} - 1) \left(\frac{-r_2 (e^{r_1 T} - 1)}{r_1 (1 - e^{r_2 T})} \right)^{\frac{r_2}{r_1 - r_2}} \right] < 1. \tag{12} \end{aligned}$$

Let $C^+(I)$ be the cone of all nonnegative function in $C(I)$. We now define a mapping $A : C^+(I) \rightarrow C^+(I)$ by

$$Au(t) = \int_0^T G(t, s) f_1(s, u(s)) ds, \quad t \in I. \tag{13}$$

By Lemma 2, positive solution of BVP (1)-(2) is equivalent to nontrivial fixed point of A . We will find the nonzero fixed point of A by using the fixed point index theory in cones. For this, choosing the sub-cone K of $C^+(I)$ by

$$K = \{u \in C^+(I) | u(t) \geq \delta \|u\|, \forall t \in I\},$$

where $\delta > 0$ as in (12), we have the following result.

Lemma 3. $A(K) \subset K$, and $A : K \rightarrow K$ is completely continuous.

Proof. Let $u \in K$. It is easy to see by (10) that

$$Au(t) \leq \int_0^T G(s, s) f_1(s, u(s)) ds = c \int_0^T f_1(s, u(s)) ds, \quad \forall t \in I,$$

and therefore

$$\|Au\| \leq c \int_0^T f_1(s, u(s)) ds.$$

Using (11) and the above inequality, we have

$$Au(t) = \int_0^T G(t, s) f_1(s, u(s)) ds \geq \delta c \int_0^T f_1(s, u(s)) ds \geq \delta \|Au\|, \quad \forall t \in I,$$

namely $Au \in K$. Thus $A(K) \subset K$.

Obviously, $A : K \rightarrow K$ is continuous. Let $D \subset K$ be a bounded set. For every $u \in D$, since

$$(Au)'(t) = \int_0^T G_t(t, s) f_1(s, u(s)) ds, \quad t \in I,$$

where $G_t(t, s)$ as in Lemma 1 in [1], a.e.,

$$G_t(t, s) = \frac{1}{r_1 - r_2} \begin{cases} \frac{r_1 e^{r_1(t-s)}}{e^{r_1 T} - 1} + \frac{r_2 e^{r_2(t-s)}}{1 - e^{r_2 T}}, & 0 \leq s < t \leq T, \\ \frac{r_1 e^{r_1(T+t-s)}}{e^{r_1 T} - 1} + \frac{r_2 e^{r_2(T+t-s)}}{1 - e^{r_2 T}}, & 0 \leq t < s \leq T, \end{cases}$$

it follows that $\{(Au)'|u \in D\}$ is a bounded set. Consequently, $A(D)$ is an equicontinuous and bounded family of functions. Thus, by Arzela-Ascoli's Theorem, $A : K \rightarrow K$ is completely continuous. \square

For $r > 0$, let $K_r = \{u \in K \mid \|u\| < r\}$, and $\partial K_r = \{u \in K \mid \|u\| = r\}$, which is the relative boundary of K_r in K . The following two lemmas are needed in our argument.

Lemma 4. (see [4]) *Let $A : K \rightarrow K$ be completely continuous mapping. If $\lambda Au \neq u$ for any $u \in \partial K_r$ and $0 < \lambda \leq 1$, then the fixed point index $i(A, K_r, K) = 1$.*

Lemma 5. (see [4]) *Let $A : K \rightarrow K$ be completely continuous mapping. Suppose that the following two conditions are satisfied:*

- (i) $\inf_{u \in \partial K_r} \|Au\| > 0$.
 - (ii) $\lambda Au \neq u$ for any $u \in \partial K_r$ and $\lambda \geq 1$.
- Then, $i(A, K_r, K) = 0$.*

3. Proof of the Main Result

Proof of Theorem 1. Assume (H_1) is satisfied. We show that the operator A defined by (13) has a nonzero fixed point. Since $f^0 < p_1$, by the definition of f^0 , we may choose $\epsilon \in (0, M + p_1)$ and $r_0 > 0$ such that

$$f(t, u) \leq (p_1 - \epsilon)u, \quad \forall t \in I, 0 \leq u \leq r_0. \quad (14)$$

Let $r \in (0, r_0)$, we now prove that $\lambda Au \neq u$ for $u \in \partial K_r$ and $0 < \lambda \leq 1$. In fact, if there exist $u_0 \in \partial K_r$ and $0 < \lambda_0 \leq 1$ such that $\lambda_0 Au_0 = u_0$, then by the definition of A and Lemma 2, we have

$$-u_0''(t) + pu_0'(t) + qu_0(t) = \lambda_0 f_1(t, u_0(t)), \quad t \in I, \quad (15)$$

along with the boundary condition (2). From (14), (15) and the definition of f_1 , it follows that

$$\begin{aligned} -u_0''(t) + pu_0'(t) + (p_1 + M)u_0(t) &\leq \lambda_0(Mu_0(t) + (p_1 - \epsilon)u_0(t)) \\ &\leq (M + p_1 - \epsilon)u_0(t). \end{aligned}$$

Integrating the both sides of the above inequality from 0 to T and using (2), we obtain

$$(p_1 + M) \int_0^T u_0(t) dt \leq (M + p_1 - \epsilon) \int_0^T u_0(t) dt.$$

Noticing that $\int_0^T u_0(t) dt > 0$ ($u_0(t) \geq \delta \|u_0\| = \delta r > 0$), we conclude that $p_1 + M \leq p_1 + M - \epsilon$, which is a contradiction. Hence A satisfies the hypothesis of Lemma 4. By Lemma 4 we have

$$i(A, K_r, K) = 1. \quad (16)$$

On the other hand, since $f_\infty > p_1$, there exist $\epsilon > 0$ and $H > 0$ such that

$$f(t, u) \geq (p_1 + \epsilon)u, \quad \forall t \in I, u \geq H. \quad (17)$$

Setting $C = \max_{t \in I, 0 \leq u \leq H} |f(t, u) - (p_1 + \epsilon)u| + 1$, then we have

$$f(t, u) \geq (p_1 + \epsilon)u - C, \quad \forall t \in I, u \geq 0. \tag{18}$$

Choose $R > R_0 := \max\{H/\delta, r_0\}$. Let $u \in \partial K_R$. Since $u(t) \geq \delta\|u\| > H$ for $t \in I$, from (10), (11), and (17) we have

$$\begin{aligned} \|Au\| &= \max_{t \in I} \int_0^T G(t, s)(f(s, u(s)) + Mu(s))ds \\ &\geq c\delta \int_0^T (f(s, u(s)) + Mu(s))ds \geq (M + p_1 + \epsilon)c\delta \int_0^T u(s)ds \\ &\geq (M + p_1 + \epsilon)c\delta^2 T\|u\|. \end{aligned} \tag{19}$$

Therefore $\inf_{u \in \partial K_R} \|Au\| > 0$, namely the hypothesis (i) of Lemma 5 holds. Next we show that if R is large enough, then $\lambda Au \neq u$ for $u \in \partial K_R$ and $\lambda \geq 1$. In fact, if there exist $u_0 \in \partial K_R$ and $\lambda_0 \geq 1$ such that $\lambda_0 Au_0 = u_0$, then $u_0(t)$ satisfies equation (15) and boundary condition (2). Thus, from (18) that

$$-u_0''(t) + pu_0'(t) + (p_1 + M)u_0(t) \geq f(t, u_0(t)) + Mu_0(t) \geq (M + p_1 + \epsilon)u_0(t) - C.$$

Integrating the both sides of the above inequality from 0 to T and using (2), we obtain

$$(p_1 + M) \int_0^T u_0(t)dt \geq (M + p_1 + \epsilon) \int_0^T u_0(t)dt - CT,$$

which implies that

$$\int_0^T u_0(t)dt \leq \frac{CT}{\epsilon}. \tag{20}$$

Since $u_0 \in K$, we have

$$\int_0^T u_0(t)dt \geq \int_0^T \delta\|u_0\|dt = \delta T\|u_0\|.$$

From the above inequality and (20) it follows that

$$\|u_0\| \leq \frac{1}{\delta T} \int_0^T u_0(t)dt \leq \frac{C}{\delta\epsilon}. \tag{21}$$

Let $R > \max\{H/\delta, r_0, C/\delta\epsilon\}$, then for any $u \in \partial K_R$ and $\lambda \geq 1$, $\lambda Au \neq u$. Hence the hypothesis (ii) of Lemma 5 also holds. By Lemma 5,

$$i(A, K_R, K) = 0. \tag{22}$$

By the additivity of fixed point index, (16) and (22) we have

$$i(A, K_R \setminus \bar{K}_r, K) = i(A, K_R, K) - i(A, K_r, K) = -1.$$

Hence A has a fixed point in $K_R \setminus \bar{K}_r$, which is the positive solution of BVP (1)-(2).

Assume (H_2) is satisfied. The proof of this case is similar to that of above case, we omit the details here.

The proof is completed. \square

Acknowledgments

Project is supported by the Natural Science Foundation of Jiangsu Education Office (03KJD110056) and Jiangsu Planned Projects for Postdoctoral Research Funds.

References

- [1] C. Bai, Existence of solutions for second order nonlinear functional differential equations with periodic boundary value conditions, *Int. J. of Pure and Appl. Math.*, **16** (2004), 451-462.
- [2] A. Cabada, J. J. Nieto, A generation of the monotone iterative technique for nonlinear second-order periodic boundary value problems, *J. Math. Anal. Appl.*, **151** (1990), 181-189.
- [3] L. Erbe, H. Wang, On the existence of positive solutions of ordinary differential equations, *Proc. Amer. Math. Soc.*, **120** (1994), 743-748.
- [4] D. Guo, V. Lakshmikantham, *Nonlinear Problems in Abstract Cones*, Academic Press, New York (1988).
- [5] J. Henderson, H. Wang, Positive solutions for nonlinear eigenvalue problems, *J. Math. Anal. Appl.*, **208** (1997), 610-625.
- [6] S. Leela, Monotone method method for second order periodic boundary value problems, *Nonlinear Anal.*, **7** (1983), 349-355.
- [7] Y. Li, On the existence and nonexistence of positive solutions for nonlinear Sturm-Liouville boundary value problems, *J. Math. Anal. Appl.*, **304** (2005), 74-86.

- [8] Z. Liu, F. Li, Multiple positive solutions of nonlinear two-point boundary value problems, *J. Math. Anal. Appl.*, **203** (1996), 610-625.
- [9] J. Mawhin, M. Willem, Multiple solutions of the periodic boundary value problem for some forced pendulum-type equations, *J. Diff. Eq-s.*, **52** (1984), 264-287.
- [10] J. J. Nieto, Nonlinear second-order periodic boundary value problems, *J. Math. Anal. Appl.*, **130** (1988), 22-29.

